Potencias de 10 (H)

8,206+ 10!

9,138 = 10!

0,308 + 10!

8,371 +10!

7,338 = 10!

4,573 + 10!

8+ 10!

9,228 + 10!

8,575 = 10!

3,219+ 10!

Calcule los siguientes cocientes.

0,761 = 10"

8,559 = 10!

3,268 = 10!

1,889 + 10!

3,155+ 10!

7,946 + 10!

6,507 + 10!

1,453 +10!

8,135 10!

8,099 = 10!
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Potencias de 10 (H) Respuestas

8,206 + 10!
0,8206
9,138 = 10!
0,9138
0,308 = 10!
0,0308
8,371+ 10!
0,8371
7,338 = 10!
0,7338
4,573 + 10!
0,4573
8+ 10!
0,8
9,228 + 10!
0,9228
8,575+ 10!
0,8575
3,219+ 10!
0,3219

Calcule los siguientes cocientes.

0,761 +10'
0,0761
8,559 =+ 10!
0,8559
3,268 + 10!
0,3268
1,889+ 10!
0,1889
3,155+ 10!
0,3155
7,946 = 10!
0,7946
6,507 10!
0,6507
1,453+ 10!
0,1453
8,135+ 10!
0,8135
8,099 = 10!
0,8099
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